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Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
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Question Number : 1 Question Id : 3666947781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
3

3 s
s LT i and g(x) = /x , then fog : [0.2] - {1} — Ris:

x—1

Options :

36669424721, one-one but not onto

36669424722, one-one and onto

36669424723, onto but not one-one

36669424724, neither one-one nor onto

Question Number : 1 Question Id : 3666947781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
3 3 S oo
gl f(x)=i+L AU ()= fx G lfog:[0.2]- {1} = &

x+1

Options :

36669424721, U1 & T STBED el ©

36669424722, Taeh! qUT STBIEH ©

36660424723, STHTET § T TS Tel ©

36669424724, 1 A1 UH D! A B STBIED ©

Question Number : 2 Question Id : 3666947782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

” a+io,
The sum of squares of the values of o €R such that the argument of — is 60°,
b= /-] ,15:

Options :

36669424725, 3

36669424726. 3

11
36669424727. 3

36669424728. 4



Question Number : 2 Question Id : 3666947782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
a€R T I AL 5P g == i = V1, S BI0® 60° %, S M BT AN &

Options :

36669424725, 3

36669424726. 3

11
36669424727. 3

36669424728. 4

Question Number : 3 Question Id : 3666947783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For the system of equations
xtiy—z=1
x+2y+lz=2
x+2y+z=2,

which one of the following 1s NOT correct?

Options:

36669424729, it has unique solution if ) is not a root of the equation t* — 3t +2 =10

36669424730, it has unique solution if ) is not a root of the equation t* —t —2 =0



36669424731, it has infinitely many solutions if . = 1

36669424732, it has no solution if /. =2

Question Number : 3 Question Id : 3666947783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GG FH

xtiy—z=1

x+2y+iz=2

e ddsaue ggiagi s 2

Options:

36669424729, S9P1 Had TP & % Ol ) FHIBRUT 2 - 3t +2 = 0 T UD Ha 5l ©

36669424730, SPT BA U B © la L THIBRUT 2 — t — 2 = 0 BT Th Jd 6l §

36660424731, S9P ST EAR AR L=1%

36669424732, SUDI DI sARI g UG L=28

Question Number : 4 Question Id : 3666947784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



20
Ifa,=(2n"—n+2) (n!) then Z a, is equal to :
Fi=1

Options :

36669424733, 37 (201) — 1
36669424734, 37 (201) + 1
36669424735, 39 (211) T 1

36669424736, 39 (211) -1

Question Number : 4 Question Id : 3666947784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
) 20 ,
qﬁ: a, =(2n" —n+ 2) (n!) %’ al Z a, W%
ri=1
Options:

36669424733, 37 (201) -1
36669424734, 37 (201) + 1
36669424735, 39 (211) + 1

36669424736, 39 (211) -1

Question Number : 5 Question Id : 3666947785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

.. 1 x g
lim — — =
el x(ﬁiﬂx x )

Options :

36669424737, is equal to 0

is equal to :
36669424738. 5

36669424739, 1s equal to 1

36669424740. does not exist

Question Number : 5 Question Id : 3666947785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i af B
_~c_>|}+‘~.EC sinx X

Options :

36669424737, 0 P R ©

R o

1
36669424738. 5
36669424739, 1 & SRTEX g

36669424740, P HEIA 5! ©



Question Number : 6 Question Id : 3666947786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dt

Let x = x(t) be the solution curve of the differential equation dx _ . and

%
|=80. If x(t,)=5. then ty 1s equal to :

o

x(0)=100, x

;
!
|

FJ | =

Options :

log 5 +log 4

36669424741, 2\10g, 5~ log 4}

lmggﬂ + logg-fl

36669424742, 10g,5—1og 4

log 5-log 4

36669424743, 2 (log, 5 +1og, 4

log,5—log 4

36669424744, 10g, 5+ log 4

Question Number : 6 Question Id : 3666947786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

~

o

O HdHd U]

.

=~ ke, x(0)=100, x{ D_godigdadba=x(t) ¢ |
L 2/

gl x(t,)=5 8. ', WER &

Options :

lcggi + lcgg-'l

36669424741, 2\log, 5~ log 4}



log 5 +log 4

36669424742, 08,5 —1og 4

log _5-log _4

36669424743, 2(log, 5 +1og 4]

log,5—log, 4

36669424744, 08,5+ log 4

Question Number : 7 Question Id : 3666947787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cos—1(x)
The slope of the tangent to the curve y= p(x) =J. '
sin~1(x)

Y1+ 4sinlrdr0<x<1

. 1 \ :
at the point | — 0| on the curveis:
7

Options :

36669424745, —2+6

b

V6

36669424746.

36669424747, =43

NG

=

36669424748.

Question Number : 7 Question Id : 3666947787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

cos!(x) (1 o) v o SGLGIE
dsh JI:I[Iﬂ:.[qin_l{x} wl+4zsiniran0gx<1 $ﬁ§ _h':'“;tﬁ Wﬁ %

Options :

36669424745, —2+6

N7

-

36669424746.

36669424747, —4~3

Vg

F=

36669424748.

Question Number : 8 Question Id : 3666947788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"

T\ vt
Let af.y {D <o,y < o be the angles between non-zero vectors ¢ and 4, p and

¢, ¢ and 4 respectively. If 8 is the angle that the vector 5 makes with the plane
containing p and ¢ . then

Options:
36669424749, €088 = cosec”P (cos”a + cos?y — 2 cosa cosP cosy)
36669424750, C08~8 = secB (cos’a + cos”y + 2 cosa cosp cosy)

36669424751 . sin’6 = cosec’P (cos?a + cos?y — 2 coso cosP cosy)

36669424752. sin’® = sec’P (cos’a + cos’y + 2 coso cosp cosy)



Question Number : 8 Question Id : 3666947788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M YR QW 5 AU 5,5 TU ¢, ¢ TUT 5 P sid PV HH:

ti.,ﬁ..‘:.-’[ﬂff B,y < %ﬁ o | ofe gaaa. forgd gfew , qur ¢ Ryds. 9 9lew 4
2

PIT 6 ST 3. I

Options :

36669424749. cos’ = cosec’P (cos’a + cos’y — 2 cosa cosP cosy)
36669424750. cos?0 = sec’P (cos’a + cos?y + 2 cosa cosp cosy)
36669424751 sin”6 = cosec’P (cos’a + cos’y — 2 coso cosP cosy)

36669424752, 5in"8 = sec”P (cos?a + cos?y + 2 cosa cosp cosy)

Question Number : 9 Question Id : 3666947789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The domain of the function
f(x)=sin™! (log, ((x—1) (x-2))) 1s :
Options:

36669424753, [0- 3]

By

36669424754.{ 2

36669424755.



~ |

[3—\/5‘ ) [,} 3443

D:a—wmu{ahfé:g}

36669424756. { 2

Question Number : 9 Question Id : 3666947789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B f(x) = sin~! (log, (1) (x-2))) PIHA§

Options :

36669424753, [0: 3]

36669424754, { 2

343 .4 [;-. 3+\/§“‘:

3 11U z

36669424755. [ /

D_E_JE—JUF+JE:3}

36669424756. { -2

Question Number : 10 Question Id : 3666947790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let o and P be the roots of the equation 2x> — 5x— 1 =0. Forn € 17, let

P,=o"+p"
2R (2P -5B)
Then is equal to :
P(5Bo+P,)
Options :

36669424757, 2

1
36669424758. 2
36669424759. — 1

36669424760. 1

Question Number : 10 Question Id : 3666947790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T RO 22— Sx— 1 =0 D A ¢ AUIBE | n€ll, P 1T, AHTP, = o + po

&

| 2P (2P -5B)

F(5F0+Py)
Options:

L

36669424757, 2

1
36669424758. 2

36669424759. — 1



36669424760. 1

Question Number : 11 Question Id : 3666947791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the image of the point (1, 1, 2) in the plane 2x — y+2z+3=0 1s the point P, then
the distance of P from origin is

Options :

36669424761. 23

36669424762, N2

36669424763, 4

36669424764, ©

Question Number : 11 Question Id : 3666947791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe [6g (1,1.2) T 9909 2x-y+z+3=0 T Yflda P&, qI p Pl Ha fdg A X ©

Options :

36669424761, 2V 3

36669424762. £ 5]



36669424763. 4

36669424764. 6

Question Number : 12 Question Id : 3666947792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For three non-coplanar vectors 4 b, ¢ . if [E + E] : [(E + E] % (E + _.5]} =a [5 b E}
and (54‘ E?'.] - {(E +E] i (54‘ b+ E]} =P |:5 b E:| . then o+f 1s equal to :

Options :

36669424765, — 3
36669424766. — 1
36669424767. 1

36669424768. 3

Question Number : 12 Question Id : 3666947792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dFafeRl ; 5 ; 9 U@ da § 8l § & g, A
(5+Ej.[(z+a_‘_]><[a+5_)}=a[a b c|qen
(a+3)-{(B+c)x(a+b+c)}=B[a b ¢ | €.l a+p RIRE |
Options :

36669424765, — 3



36669424766. — 1
36669424767. 1

36669424768. 3

Question Number : 13 Question Id : 3666947793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dx o 3

I I(x)= f_ 2 then tan|ﬁi g |- 1(0) || is equal to :

8) 7))
Options :

1
36669424769, V2

36669424770. 1

36669424771, ¥2

36669424772. 2

Question Number : 13 Question Id : 3666947793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe 1(o)=| L %ﬂTtanJ’f' I(ﬂj W%’

1-2sin“ x cos“ x

-’.-"

Options :

36669424769.



oy

36669424770. 1

36669424771, V2

36669424772. 2

Question Number : 14 Question Id : 3666947794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let X have a binomial distribution B (6, p). If the sum of the mean and the

, . | P(2£X<4),
variance of X 18 ——. then 18 equal to :
g P(4< X <6)

Options :

36669424773. 65

36669424774. 195

—
=]
Lh

36669424775.

205
36669424776. 2

Question Number : 14 Question Id : 3666947794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
U X BT fgUe §e-B (6. p) & 193 X & H1e0 IR URRUrH1arT 2L 2. ar
5

P(2<X <4) 5
P(4< X <6)

Options :

36669424773. 65

36669424774, 195

36669424775.

223
36669424776. 2

Question Number : 15 Question Id : 3666947795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the statement
(p=(~q)A(pvg)=p

15 a tautology. then * 1s :
Options :
36669424777. A
36669424778, V

36669424779. =

36669424780. =



Question Number : 15 Question Id : 3666947795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe dYH
(p*(~)rpva)=p

U® Aol 6. ol + ©

Options :

36669424777. N
36669424778. V
36669424779. =

36669424780. <

Question Number : 16 Question Id : 3666947796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the circles x> +y* - 2x—4y+4=0and 2 492 _6x-10y+20+2-13=0
touch each other at the point (a. b). then (3a — 2b)? is equal to :

Options:

36669424781. 1
36669424782. 4

36669424783. ¢



36669424784. 13

Question Number : 16 Question Id : 3666947796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT +37—2x—4y+4=0TUT (2,32 6y _10y+20+2-13=0 TP
G P! [ (a. b) TR WY PR 6. dl (3a-2b)? WER

Options :

36669424781. 1
36669424782, 4
36669424783, 9

36669424784, 13

Question Number : 17 Question Id : 3666947797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the angle between the line [: oo A D and the plane
2 1 2

-

P:lx+4y—-7=0,1#0.is COSEC

) . then the sum of co-ordinates of the

M,

point where line [ crosses the plane P is :
Options :

36669424785. —33

36669424786. —2



36669424787 3

36669424788. 6

Question Number : 17 Question Id : 3666947797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e ;:";J’:]:zj TUIHAAD : Jr+ 4y —7=0. 0.2 0. H ST BT

mmsec—l[;]%.amﬁg.mmwswmﬁmﬁﬁw
CARIEIE
Options :

36669424785, —33

36669424786. —2

36669424787. 3

36669424788. 6

Question Number : 18 Question Id : 3666947798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let three distinct normal be drawn to the parabola y* + 4y — 6x — 8 = 0 from a point
(a. b) on the axis of the parabola. Then :

Options :

36669424789, @ € (1. ) and b=-1



36669424790. @ € (0. ) and b= -2

36669424791, @ € (1. w)and b =2

36669424792, @ € (2. ) and b =2

Question Number : 18 Question Id : 3666947798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T IRAT )2 + 4y — 6x — 8 = 0 B H& R TP g (. b) ¥ WAy R A Hd
MM SO 6 | df

Options :

36669424789, @ € (1. =) dUT b=-2

36669424790, @ € (0. =) dUT b =-2

~

36669424791, @ € (1. o) AUT D

-

36669424792, @ € (2. =) A4l b

Question Number : 19 Question Id : 3666947799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



; n!
GV, G EE——
rl(n—r)!

possible value of k for which the equality
50

50 1007 .~ _100 ¢ .
('k—l —I—Z ('k-l = (_4LJ holds, is

r=|

0 < r =<nand n is a non-negative integer. Then a

Options :

-9

36669424793, 40

=9

36669424794, 49

L
=

36669424795.

36669424796.

Question Number : 19 Question Id : 3666947799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
n!

fRarmgfe "c =ﬁ.ﬂ5 r <n U0 TP BUR U 31 Tk
r:i\n—r).
50

1 U Ty 7, s o 0y +Z s = 5B

r=1

Options:

36669424793. 40

36669424794, 49

36669424795. 50



36669424796. 25

Question Number : 20 Question Id : 3666947800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If an unbiased die, marked with —3. —2. —1. 0. 1. 2 on its faces, is thrown four
times, then the probability of getting —1 as the sum of outputs is :

Options :

36669424797. 81

36669424798. 324

36669424799. 81

26
36669424800. 243

Question Number : 20 Question Id : 3666947800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gfe e FHAd Ore. o d Fadi I -3, 2. -1.0, 1.2 foralg. @l IR aR
Hhep] 9Tl ©. ol Bad U3 Ut =13 1 T —1 511 & Wi dr g

Options :

~
36669424797. 81



36669424798. 324

36669424799. 81

26
36669424800. 243
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Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 21 Question Id : 3666947801 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(sin5%in55%in65%in75%) ! is equal to

366694446
2

Online
Mandatory
10

5

20

Yes

0

1
366694446
Yes

null



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666947801 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(sin5%in55%in65%in75%)~! ERTER

PaylFl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666947802 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the shortest distance between the lines

o - 10
3x+2}'—4z—5={}=5x—?1'—l?g—landx M 18 —7=.then kis
3 3 =5 2 ‘J,E

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666947802 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UGB 3+ 2y —4z-5=0=5x Ty 17z+2 U 222271 G|y
3 2

=5

AaH g3l i/——i 8. Tk RIaR &
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666947803 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For p € 17, if the angle between pair of tangents drawn to the ellipse 3x> + 2> =5

: i (127 , .
from the pomt (1, p) 1s tan ! (—FJ . then the distance of the vertex of the
\ VI

parabola y = x> — px + p + 1 from the point (—7. 8) is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 23 Question Id : 3666947803 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

pE %%}Eﬂﬁﬁg (L p)‘@fa‘TETQ?IixE —23'2= 5 W@ﬁﬁﬁ@ﬁ@@%
ClEEaLl tan"]f E | % H:TW}TXE -px+p+1 %Qﬂﬁﬁﬁg{—?. 8]@@
WR_

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666947804 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let P be a polygon with n vertices such that the line segment joining any two points
of P remains entirely in P. If the number of diagonals of P is n + 25, then n is equal
to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 24 Question Id : 3666947804 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

H o XY T TP T84 59 TR & &b p P oo ot a1 foigadt ! e arar
Yargs HpH 31 afe p & gDl &1 9= n+25 8. A n RS B |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666947805 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let fix) be a polynomial of degree 5 such that 1lim m =1.
x—=0 y-

fi—-1) =—1. fix) — 14x has an extrema at x = 1 and f{x) —10x has an extrema at
x =—1. Then f{2) 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666947805 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A ). ¥ 5 1 0 0% & o R i L8010 = 1%,

X
Ax) — 14x D1 TP IR fdig x = 1 8 TUT flx) —10x BT Ub oA fig x =-1 8. A A2)
GRIGH &L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666947806 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of 7 digits integers formed by using the digits 2, 3. 4. 5 only and
having the sum of digits equal to 18 1s

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666947806 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Had @] 2. 3. 4. 5 D VAN Y §1T T 7 3P| P gl o Sl HT1aMT 18
8. 3 I eI

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666947807 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The remainder when (556)* is divided by 7 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666947807 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(556)*0 D1 7 T faUIoTg S IR U9Hd B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 28 Question Id : 3666947808 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let [t] denote the greatest integer less than or equal to t. Then the value of
7
10-10 I—: [x + 3] dx is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666947808 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g
g7 [t] 98vH Yulid gréla“rm_mj'?[ﬂﬁ]dfﬁlﬂﬂ T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666947809 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
l .

V2|

minimum value of k+1 1s

17 ] ] R Sy |
Let 4 I and B g it If k. I € 11 be such that 4™ B° = I, then the



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666947809 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ol 4= L ‘I : aul s [f]' U| S 1A kI eNnTRUAB =18 T k+1aT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666947810 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 7 8
2 3 ;
LetAy=[1], Ay= L _:|,,q3 =9 10 11/,.. Then the sum of the diagonal
5
12 13 14

elements of A, is
Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666947810 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
6 7 8

=[1 1.&: 9 10 11|.. © Il Ay P 90l & Sfauadl 1

AFTA; =[1]. A
4 5 ’
12 13 14

am g |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Aptitude Test
Section Id : 366694447
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 366694447
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 31 Question Id : 3666947811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a sustainable development goal targeted to be
achieved by 20307

Options :

36669424811, gender equality

36669424812, “ero hunger

36669424813, good health & well being

36669424814, Space Research

Question Number : 31 Question Id : 3666947811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I o8 7 fapedl § § T W1 UF TReed Saaude T1Td 9 2030 dF Ui el e 2l

Options :

36669424811, (@7 3FUT



36669424812, VIRl TR

36669424813, ST HERI

36669424814, SdlE e

Question Number : 32 Question Id : 3666947812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
KANDARIYA MAHADEV TEMPLE is situated in which state of India?

Options:

36669424815, Madhya Pradesh

36660424816, Maharashtra

36669424817, vaiasthan

Karnataka
36669424818.

Question Number : 32 Question Id : 3666947812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gaid1 HeTad Hivax fdd g # fRua 87

Options :



36669424815, HH Ve

36669424816, TCNE

36669424817, T

36669424818, ®icd

Question Number : 33 Question Id : 3666947813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Vertical elements in a building are:-
Options :

Column, Lintel, Wall
36669424819.

36669424820. Lintel, Beam, Arch

36669424821, Column, Pier, Post

Floor, Column, Arch
36669424822.

Question Number : 33 Question Id : 3666947813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



o= H TEdd dd o-

Options :

36669424819, W, fifed, dian

36669424820, Ted, dH, AR

36669424821, TM, TR, TR

36669424822, B, TR, TRUI

Question Number : 34 Question Id : 3666947814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Cavity Walls are used for

Options:

36669424823. “’aterprtmﬁng

36669424824, Heat Insulation

36660424825, ‘resthetics

Cost saving
36669424826.

Question Number : 34 Question Id : 3666947814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Hiact aia &1 F1 3udm g2

Options:

36669424823, ATl

36669424824, I S

36669424825, Ul at

36669424826, rd 44

Question Number : 35 Question Id

: 3666947815 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lintel is related to:
Options :

36669424827, Window

36669424828, °°f

36669424829, Foundation

Pipe
36669424830.

Question Number : 35 Question Id

: 3666947815 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
feied &1 wwam g-
Options :

36669424827, T@SH!

36669424828. #d

36669424829, 14

36669424830, 131

Question Number : 36 Question Id : 3666947816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option among the following by looking at the image given
above:

Options:

36669424831, Ledhi Garden



36669424832, O antar Mantar

36669424833, Rajghat

36669424834, anai Temple

Question Number : 36 Question Id : 3666947816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fed 78 fom &1 S wEl faeey 94-

Options :

36669424831, i TMEA

36669424832, S HTH

36669424833, {IWHIC

36669424834, w81 HieX



Question Number : 37 Question Id : 3666947817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
ARCHITECT ACT 1972 was enforced in which month

Options :
36669424835, © 1" Dec

36669424836, °1™ May

315t July
36669424837.

36669424838, °1" March

Question Number : 37 Question Id : 3666947817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hidredhe Uae 1972 {5 HEH H A gan U

Options:

36669424835, 31Ta¥s

36669424836, 31 7%

36669424837, 31 9%

36669424838, 31 Hd



Question Number : 38 Question Id : 3666947818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
The dome of Rashtrapati Bhawan is influenced by which of the following:

Options :

36669424839, Gurudwara

Mosque
36669424840.

36669424841, Stupa

Temple
36669424842.

Question Number : 38 Question Id : 3666947818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ATl Ha 1 T e § mfad g2

Options :

36669424839, TPER

36669424840, e

36669424841, T



36669424842, WX

Question Number : 39 Question Id : 3666947819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Dominion tower is designed by

Options :

36669424843, arke Ingels

36669424844, Zaha Hadid

36669424845, Frei otto

36669424846, L. Wright

Question Number : 39 Question Id : 3666947819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
St eraR e S & &2

Options :

36669424843, [aurd gferw

36669424844, eI BAIG



36669424845, B% Hiel

36669424846, TP UAIET

Question Number : 40 Question Id : 3666947820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The largest river island of the world is present in which state of India?

Options :

36669424847, Maharastra

36669424848. Assam

36669424849. Uttar Pradesh

West Bengal
36669424850.

Question Number : 40 Question Id : 3666947820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TEY 921 Aal giU g B WRd & (59 o J g 82

Options:

36669424847, HeNE



36669424848, M

36669424849, TR W&¥

36669424850, THH S

Question Number : 41 Question Id : 3666947821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who prepared the first layout of the town of Jamshedpur?

Options :

36669424851 Charles Correa

36669424852, Otto Konigsberger

36669424853, Le Corbuseir

Messrs Julin Kennedy Sahhin
36669424854.

Question Number : 41 Question Id : 3666947821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THYEYY R @1 9gdl dreHl Uy fhen oar faar ure
Options :

36669424851, T Tl



36669424852, el PR

36669424853, TI-PIENAR

36669424854, I e T FS] W

Question Number : 42 Question Id : 3666947822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the historical monument which is given in the image.
Options :

36669424855, anchi Stupa

36669424856, " ictory Tower

36669424857, Sarnath Stupa

Nalanda
36669424858.



Question Number : 42 Question Id : 3666947822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foa 7 T30 T ufoeiie WIRE & ugag

Options :

36669424855, Hd! &M

36669424856, [daCl AR (fawrt wm)

36669424857, A &[T

36669424858, Tl

Question Number : 43 Question Id : 3666947823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was known as “Father of modern concrete™
Options :

36669424859, John Paul



36669424860, 2 °ohn Nash

John Smeaton
36669424861.

Joseph Stein
36669424862.

Question Number : 43 Question Id : 3666947823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HI&A BB I B 9 (B4 Fgl ol 82

Options :

36669424859, W did

36669424860, 911

36669424861, Wi e

36669424862, WH® ©H

Question Number : 44 Question Id : 3666947824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is the architect of TWA Airport, New York?

Options:



36669424863. Eero Saarinen

36669424864, Mies Vander Rohe

36669424865, Joseph Allen Stein

36669424866 Alvar Aalto

Question Number : 44 Question Id : 3666947824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TWA BaT% (3], <gdids &1 arkgdel [ad 14 82
Options :

36669424863. R

36669424864, 1l a2 8

36669424865, SIH® o ¥

36669424866, R ST

Question Number : 45 Question Id : 3666947825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Starting from a point, Maria walked 12 meters towards North, she turned
right and walked 10 meters. She again turned right and walked 12 meters,
then she turned left and walked 5 meters. How far is she now and in which
direction from the starting point? Consider the starting point is in south
direction.

Options :

36669424867, 27 meters towards East

36669424868, © meters towards East

36669424869. 10 meters towards West

36669424870. 15 meters towards East

Question Number : 45 Question Id : 3666947825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e famg | mfn 12 e I femn &1 ofk =eh, a8 o 5l ud 10 view 9el a8 iR & o gt
T4 12 HieX 9o fih a8 918 43t ud 5 Hie 9at| SR fa &1 <fémn ° wed g2, 98 fadt g2 o
et ud fobw femm @ ward|

Options :

36669424867, 27 HIeX Id @1 3%

36669424868, 5 HIEX gd &l 3R

36669424869, 10 e TlEm F1 3R

36669424870, 15 HeX I 1 3R



Question Number : 46 Question Id : 3666947826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not Pritzker prize winner?
Options :

36669424871, 'vang Shu

36669424872, B-V. Doshi

36669424873, Arata Isozaki

36669424874, Denise Scott Brown

Question Number : 46 Question Id : 3666947826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

PSR fawe wee o =1 82
Options :

36669424871, I

36669424872, . 4l @il

36669424873, HRTCT SIS

36669424874, 1S WBIC HII



Question Number : 47 Question Id : 3666947827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not Antonio Gaudi's project?

Options :
36669424875, Casa Mila

Sagrada Familia
36669424876.

36669424877, Casa Batllo

36669424878, Casa Milano

Question Number : 47 Question Id : 3666947827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e 3 9 FF-w1 geiel i s &1 Ueiee 781 82

Options :

36669424875, I fHel

36669424876, TTRIS! HiHfera

36669424877, PHIEET



36669424878, Tl e

Question Number : 48 Question Id : 3666947828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following i1s most earthquake resistant structure?

Options :
RCC framed structure

36669424879.

36669424880, L0ad bearing structure

36669424881 . Mud walls structure

36669424882, Random stone masonary structure

Question Number : 48 Question Id : 3666947828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g T 9 B wad e Y& sEdid gl g?

Options :

36669424879, ¥RuLH T

36669424880, - W drell gidl

36669424881, el AR gl



36669424882, TR [ g1

Question Number : 49 Question Id : 3666947829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
“CHALK" belongs to which category?

Options :

36669424883, Rock

36669424884, Mineral

36669424885, Wood

36669424886, olymer

Question Number : 49 Question Id : 3666947829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e v Aot 7 @2

Options:

36669424883, T

36669424884, -



36669424885, TFS!

36669424886, TR

Question Number : 50 Question Id : 3666947830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
What are the three parts of colour theory?

Options :

36669424887, hyper; value and chrome

36669424888, honey, violet and chroma

36669424889. hue, value and chroma

36669424890, hue: chrome and violet

Question Number : 50 Question Id : 3666947830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 fgra & i We = 87
Options :

36669424887, EER LT @M

36669424888, I, AMTE Td Sl



36669424889, &4 ITLTd PTHI

36669424890, &% P Ud Arde

Question Number : 51 Question Id : 3666947831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Identify the three primary colours?

Options :

36669424891 Red, Blue and Green
Red, Yellow and Blue

36669424892.

36669424893. Bl:—'l::l{, White and Yellow

36669424894, Blue, White and Yellow

Question Number : 51 Question Id : 3666947831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o= A T gg T
Options:

36669424891, T, e g &



36669424892, Trd, die ud e

36669424893, Tl HHE Td el

36669424894, e, g U4 el

Question Number : 52 Question Id : 3666947832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List I1:

List 1 List I1
A. Kamakhya Temple I. Madhya Pradesh
B. Padmanabha Temple |[II. Rajasthan
C. Kandariya Mahadev III. Assam
D. Karni Mata Temple IV. Kerala

Choose the eorrect answer from the options given below:

Options :

A-Il, B-I, C-II, D-IV
36669424895.

A-IV, B-III, C-II, D-I
36669424896.

A-IIL, B-1IV, C-I, D-II
36669424897.

Al B-II, C-IV, D-III
36669424898.

Question Number : 52 Question Id : 3666947832 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o 1 3 0 -
Tl il
A. HHTEN AT . 9] el
B. UM HigR . TR
C. Gl Helgd Hicy . 3{TETH
D. &l HIdl Afed I, el
el faded g1
Options:
A-Il, B-I, C-III, D-IV
36669424895.
A-IV, B-III, C-II, D-I
36669424896.
A-III, B-1IV, C-I, D-II
36669424897.
A-l, B-II, C-IV, D-III
36669424898.

Question Number : 53 Question Id : 3666947833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A square has an area of 100 sq.mt. How much will be its area on a scale of
1207

Options:

36669424899, ° Sa-mt.

36669424900, 2V sd.-mt.



36669424901, (20 sa.mt.

L)e 5] . i
36669424902, 20 Sa-mt

Question Number : 53 Question Id : 3666947833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U 371 1 AF%d 100 9 HieT g1 1:20 & AU W 3UH] 875 fhddl g?

Options:

36669424899, ° Sa-mt.

36669424900, °0 sa-mt-

36669424901, U-20 sa.mt.

L)E 5 . ®
36669424902, 2> Sa-mt

Question Number : 54 Question Id : 3666947834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Shakti Sthal is a memorial in Raj Ghat marking the
cremation site of Indira Gandhi.

Statement I1: AP. Kanvinde in the landscape designer known for
designing Shakti Sthal.

In the light of the above statements, choose the correct answer from the
options given below

Options :

36669424903. Both Statement I and Statement I1 are true

36669424904, Both Statement I and Statement II are false

36669424905, Statement [ is true but Statement 11 is false

36669424906, Statement I is false but Statement II 1s true

Question Number : 54 Question Id : 3666947834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FY | - Wi I 912 T UF WS ¢ o fa g et &1 e = g
YA || - U, A< UHid wid fSurg=r g & & fdd wa & fod o o 21
e faPe = -

Options :

36669424903, &I U | Td HUA I FA E|

36669424904, S BU | T BT 11 AT

36669424905, BU | Hl § Ud B Il 3 B



36669424906, P4 | 3 €, Td U 11 A T

Question Number : 55 Question Id : 3666947835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the full form of ‘UDAY™
Options :

Ujywala Discom Assitance Yojana

36669424907.

36669424908. Unnati Development Ayojan Yojana

36669424909. Ujwal Distribution Assurance Yojana

36669424910. Ujwal Discom Assurance Yojana

Question Number : 55 Question Id : 3666947835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UDAY &1 Ui ¥4 47 §2

Options :
36669424907, Soiddl [SHHIH HRHEH FIer

36669424908, Al SAATHE AT Tl

36669424909, Swida (ST SRR Aol



36669424910, I5Idd [SHHH SR Freil

Question Number : 56 Question Id : 3666947836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What is the acronym for ‘AYUSH™

Options :

36669424911. Ayurveda. Yoga and Naturopathy, Unani, Siddha and Homeopathy

36669424912 Ayurveda, Yogic and Unani Siddha and Homeopathy

Acroveda, Yoga, Unani, Siddha and Homeopathy
36669424913.

36669424914 Ayurveda, Yoga, Naturopathy, Unani Surgery and Homeopathy

Question Number : 56 Question Id : 3666947836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AYUSH &1 q0f ¥4 F1 27

Options:

36669424911, de, I, e, g, g vd gramed

36669424912, 3Tade, WP, Td A RigT ud gt



36669424913, Sidal, 7, g, g vd g

36669424914, 3G, T, TR, A woidl wd Ewaed

Question Number : 57 Question Id : 3666947837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Select the correct option from answer figure which will be best suitable to
continue the same pattern as established by the problem figure.

OO

Options :
36669424915.
36669424916.

36669424917.



P

36669424918.

Question Number : 57 Question Id : 3666947837 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f&d T8 IR fawed § 8 aad 3o faFed 9 o Uy &H B 31 il 8-

OO

Options :
36669424915.
36669424916.

36669424917.



25

36669424918.

Question Number : 58 Question Id : 3666947838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option from the answer figures which completes the
gquestion series.

£ NN N o

™ N/
Options :
.
v,/
36669424919.
36669424920.
36669424921.

36669424922,



Question Number : 58 Question Id : 3666947838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 4T & QU H3 F o T el § uel fawe ghE

Z | [&5] [25] [2X] [

"\ N

Options :

TN

V.
36669424919.
36669424920.
36669424921.

Pl

\ Y
36669424922.

Question Number : 59 Question Id : 3666947839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the number of surfaces in the given 3D object.

Options :

36669424923, 12

36669424924, 12

36669424925, 10

36669424926,

Question Number : 59 Question Id : 3666947839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
3-D %4 W 9%] & Tde HYdl U§l &1 §E ygaiau)

vt
=

Options:



36669424923, 12

36669424924, 17

36669424925, 10

36669424926, °

Question Number : 60 Question Id : 3666947840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the view of the
object looking in the direction of the arrow.

Options :

36669424927.

36669424928.



36669424929.

36669424930.

Question Number : 60 Question Id : 3666947840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY H 9% & 3D T SN T ¢ | iR ®1 g2 § S g 9% & el T¥ Ugdiu|

Options :

36669424927.



36669424928.

36669424929.

36669424930.

Question Number : 61 Question Id : 3666947841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in
the direction of arrow, amongst the answer figures.

Options :

36669424931.

36669424932,

36669424933.

36669424934,

Question Number : 61 Question Id : 3666947841 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
vy ¥ forelt 3% 1 30 T3 e man 81 7R &1 e W SEd g9 et ey ugEy

Options:

36669424931.

36669424932,

36669424933.

36669424934.



Question Number : 62 Question Id : 3666947842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option from the answer figures which completes the
sequence.

Options:

36669424935.

36669424936.

36669424937.

36669424938.



Question Number : 62 Question Id : 3666947842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
f&a o faspedt A Wl fawey 90 S uy 0 &1 gl S 2

.-:5.‘& ‘?

Options :

36669424935.

36669424936.

36669424937.

36669424938.

Question Number : 63 Question Id : 3666947843 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object, identify the correct view
looking in the direction of the arrow?

Options :

| i
36669424939.

1 I
36669424940.

36669424941.



36669424942,

Question Number : 63 Question Id : 3666947843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wy H Ten Ty o U g 1 3D TR Sidn & | iR &1 iU A <Ed g4 WEl vy uganA|

Options :

| i
366694249309.

1 (]
36669424940.

36669424941.



36669424942,

Question Number : 64 Question Id : 3666947844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the top view of
the object in the direction of the arrow.

2

=

Options:

36669424943.

36669424944,



36669424945,

36669424946.

Question Number : 64 Question Id : 3666947844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wy H U 3D T feun v 81 | 1 fdwn 1 SEd gu v &1 Sudl e el v fadedt | g

ot

o

Options :

36669424943.



36669424944,

36669424945.

36669424946.

Question Number : 65 Question Id : 3666947845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the total number of surfaces in the given 3D object.

Options :

36669424947, 12

36669424948, 13

36669424949, 15

36669424950, 16

Question Number : 65 Question Id : 3666947845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3D a%] H WEl &I ¥ ugaiu|

Options :

36669424947, 12



36669424948, 13

36669424949, 15

36669424950, 16

Question Number : 66 Question Id : 3666947846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the correct view
looking in the direction of the arrow.

Options :

36669424951.

36669424952,



36669424953.

36669424954,

Question Number : 66 Question Id : 3666947846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY H U 30 T2 foar g1 JR 1 fewn A Sud 29, i3 T fwed § v faees ghu

Options :

36669424951.

36669424952,



36669424953.

36669424954,

Question Number : 67 Question Id : 3666947847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the question figure it is a 3D view of an object. Identify the correct top
view among the given options.

Options :

36669424955.



-1
o

36669424956.
o
o

36669424957.
= |
a

36669424958,

Question Number : 67 Question Id : 3666947847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Wy § UF g 1 30 =29 w21 58 ' fawed # Sudl eu &1 9l f[aden 94

% ﬁ
Options:
]
5]
36669424955.
=
a
36669424956.
]
o
36669424957.
o
O
36669424958.

Question Number : 68 Question Id : 3666947848 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D wview of an object. Identify the most
appropriate top view of the object from the given direction of the arrow.

|

Options :
I
36669424959.
|_
36669424960.
36669424961.

36669424962.



Question Number : 68 Question Id : 3666947848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
WY H U 30 T U T ¢ | R 1S H SEd g0 99l wel Wi e |

Options :
36669424959.
36669424960.

36669424961.



36669424962,

Question Number : 69 Question Id : 3666947849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[dentify the total number of surfaces in the given object.

Options:

36669424963, 19

36669424964, 14

36669424965, 11



36669424966. -

Question Number : 69 Question Id : 3666947849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f& 0 3%g 7 gyl &1 Wen ug=iu|

Options :

13

36669424963.

36669424964, 14

36669424965, 11

36669424966. -

Question Number : 70 Question Id : 3666947850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the mirror image of the question figure, amongst the answer figures
with respect to P-P.

P
[
N
P
Options :
]
L]
36669424967.
O
%
36669424968.
]
366694249609.
[
36669424970.

Question Number : 70 Question Id : 3666947850 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
p.p. & YR W Uy fo= %1 v ufafams, fod m I faweul 4 & 9fm)

L]
N
P
Options :
]
[/
36669424967.
O
%
36669424968.
]
36669424969.
[]

36669424970.



Question Number : 71 Question Id : 3666947851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct mirror image of the question image with respect to P-P.
P
]J

Options :

.-IJDEIP_E

36669424971

. #o93qgl

36669424972

HEST

36669424973

93ql

36669424974

Question Number : 71 Question Id : 3666947851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



p.P. & YR W U fom &1 g vfafeE 3a S|

JPEGH

1‘.!
]:I
Options :

_-IJOEIP_U

36669424971

' #o93qal

36669424972

HEST

36669424973

93ql

36669424974

Question Number : 72 Question Id : 3666947852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the answer figures fit best to the left side of the given question
figure?

Options :



36669424975.

36669424976.

=

36669424978.

Question Number : 72 Question Id : 3666947852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I fadedl 8 9 &F W 0y [od & 97 a9 9ds ame

Options :

36669424975.

36669424976

=

36669424978




Question Number : 73 Question Id : 3666947853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the question figure, the top, front and right side view is given. Identify the
maost appropriate 3D view of the object from the answer figures.

; - T

Top view Front view Right side view
Options :
36669424979. ;
36669424980. i
36669424981. i

36669424982,



<3,

T

Question Number : 73 Question Id : 3666947853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f2d 78 vy ¥ 9 % UL, FRE vd o SR S T A T B wed = 3o e i A @

gl
f | | 1
Top view Front view Right side view
Options:
36669424979.
36669424980.

36669424981.



36669424982,

Question Number : 74 Question Id : 3666947854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D wview of an object. Identify the most
appropriate elevation (front view) looking in the direction of arrow.

A

Options:

36669424983.

36669424984,



36669424985.

36669424986.

Question Number : 74 Question Id : 3666947854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
uY o U g% &1 30 == foun o 21 R 1 fomn & Swd g4, ok fawedl o 9 wopE Ty g

..-_"""A"""-..,__

Options :

36669424983.

36669424984,



36669424985.

36669424986.

Question Number : 75 Question Id : 3666947855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. ldentify the most
appropriate view of the object looking in the direction of the arrow.

A
A~
Options :
36669424987.
36669424988.

366694249809.



36669424990.

Question Number : 75 Question Id : 3666947855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
f&d 8wy 7 9% &1 30 T <9 T €| 9 $ fomn ¥ 2ud g4 wed uel ey g

-ﬁf/‘\-"“‘--,__
#
Options :
36669424987.
36669424988.

36669424989.



36669424990.

Question Number : 76 Question Id : 3666947856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The question figure is the 3D view of an object. Identify the most appropriate
front view of the object looking in the direction of the arrow.

Options :

36669424991.

36669424992,



36669424993.

36669424994,

Question Number : 76 Question Id : 3666947856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
WY 7 U 9% &1 3D 799 <01 71 81 R &1 fgmn © S g4 wél exg uganiqu|

Options:

36669424991.

36669424992,



36669424993.

36669424994,

Question Number : 77 Question Id : 3666947857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows 3D view of an object. Identify the most appropriate top
view of the given 3D object looking in the direction of an arrow, from the
given answers figures.

Options:

il

36669424995.

36669424996.



36669424997.

i

36669424998.

Question Number : 77 Question Id : 3666947857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7% § U 3D T3 UG T 81 IR fadedl § 9, iR 31 fomn & 36d g8 Hudl 224 &1 f[d$e 9|

Options :

36669424995.



il

36669424996.

36669424997.

i

36669424998.

Question Number : 78 Question Id : 3666947858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the number of surfaces in the problem figure.

Options :

36669424999, 24

36669425000, 29

23
36669425001.

20
36669425002.

Question Number : 78 Question Id : 3666947858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
uy fom o gyt &1 e 31d S i)




Options :

36669424999, 24

36669425000. 29

23
36669425001.

20
36669425002.

Question Number : 79 Question Id : 3666947859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The gquestion figure shows 3D view of an object. Identify the most appropriate

elevation of the given 3D object, looking in the direction of an arrow, from the
given answer figures.

Options:

il

36669425003.



36669425004.
36669425005.
[T ]
]
36669425006.

Question Number : 79 Question Id : 3666947859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uy ¥ ot 3% %1 30 guiar T €1 AR $1 femn # 3w g4, el W fawedl o wdl fawey gfu

Options :

36669425003.



il

36669425004.
36669425005.
[ T ]
]
36669425006.

Question Number : 80 Question Id : 3666947860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the total number of surfaces of the 3D object.

Options :
12
36669425007. ~~

36669425008, 13

36669425009, 14

36669425010, 15

Question Number : 80 Question Id : 3666947860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
3D 7% § gNT &1 HE= 1 S|

Options :

36669425007, 12



36669425008, 13

36669425009, 14

=

36669425010. 15

Planning
SectionId : 366694448
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694448
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 81 Question Id : 3666947861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

GIS as a tool used for spatial connectedness for



Options :

36669425011, Lopology

36669425012, | opography

36669425013, Eeology

Climatology
36669425014.

Question Number : 81 Question Id : 3666947861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GIS U U3 & Sl Wikd Facs4 & ol fad Iudn gian ¢7

Options :

36669425011, I

36669425012.

36669425013, TP

36669425014. 5

Question Number : 82 Question Id : 3666947862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Smart city scheme has been launched in which year?

Options:

36669425015, 2012

36669425016, 2016

36669425017, 2015

2014
36669425018.

Question Number : 82 Question Id : 3666947862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
wE Tt At forw ad o o o

Options :

]

36669425015, 2012

36669425016, 2016

36669425017, 2015

2014
36669425018.



Question Number : 83 Question Id : 3666947863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
With reference to the area which one among the following is the largest?
Options :

36669425019, Zonal Plan

36669425020, Master Plan

36669425021, Regional Plan

36669425022, Layout Plan

Question Number : 83 Question Id : 3666947863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e A8 47 F S1UR R ¥ 937 87

Options :

36669425019, T ©id

36669425020, "R &

36669425021, o @A

36669425022, ST T



Question Number : 84 Question Id : 3666947864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Full form of NFDB i1s “National Fisheries Development
Board”.

Statement I1: Full form of NFDB is “National Forest Development &
Board.

In the light of the above statements, choose the correct answer from the
options given helow

Options:

36669425023, Both Statement | and Statement Il are true

36669425024, Both Statement I and Statement Il are false

36669425025, Statement I is true but Statement 11 is false

Statement I is false but Statement 11 is true
36669425026.

Question Number : 84 Question Id : 3666947864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYH | NFDB 1 Ui ¥4 “=9Hd fhis Sdaui< 2" & |

FY 1l : NFDB T JUf ¥ “FI9d B SqudA< as’ & |
FUHl & YR U Hel e



Options :

36669425023, S #U1 TA g

36669425024, aF BU S g

36669425025, P | WA T B Il A g

36669425026, T S AT I FAE

Question Number : 85 Question Id : 3666947865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Gandhian plan was presented by
Options:

36669425027. Sriman Narayan Agarwal

36669425028, J.L. Nehru

36669425029, M.-M. Roy

P.V. Narasimha Rao
36669425030.

Question Number : 85 Question Id : 3666947865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
e Wi fohach gRT U e T un

Options :

36669425027, FH AR

36669425028, ITEE

36669425029, “h-on- XM

36669425030, Ul R IE

Question Number : 86 Question Id : 3666947866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which 5 year plan, the growth, social justice and equality was focused.

(A) Second Five year plan

(B) Ninth Five year plan

(C) Third Five year plan

(D) Fourth Five year plan

Choose the correct answer from the options given below:
Options :

36669425031, *only

36669425032, Band D

36669425033, 1 onlY



C only
36669425034.

Question Number : 86 Question Id : 3666947866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o daadta g | gis, SeTio S91s Ud SaEr S o
(3f) 2 UG grerT

(@) 9 Ugady dis
(@) 3 Yaau e
@ 4 geaHfg e
T ra e

Options :

36669425031, A P

36669425032, 294D

B
36669425033.

36669425034, C Pad

Question Number : 87 Question Id : 3666947867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Urban Land Development, the model of sector theory was proposed by

Options :

36669425035. Charles Corea

36669425036. Ebenezer Howard

36669425037, e-Corbusier

36669425038, omer Hoyt

Question Number : 87 Question Id : 3666947867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
et yff fawra | Gaey ot wiea fea e

Options :

36669425035.

36669425036. LR

36669425037. - IR

36669425038, T BT

Question Number : 88 Question Id : 3666947868 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Who was the first Deputy Chairman of Planning Commaission?

Options :
Gulzarilal Nanda

36669425039.

36669425040, Sriman Narayan

36669425041, VM- Koy

P.V. Narasimha Rao
36669425042.

Question Number : 88 Question Id : 3666947868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT HHIRA & Ugd fewdl JuRaA &1 47

Options :

36669425039, ISR @I 75

36669425040, FH AR

36669425041, TH.UH. T

36660425042, U1l RIS E



Question Number : 89 Question Id : 3666947869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Grand Innovation Challenge was launched by:-
Options :

“NITI” Aavog
36669425043.

Finance Commission

36669425044,

36669425045, !lanning Commission

36669425046, National Planning Committee

Question Number : 89 Question Id : 3666947869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
I8 AL il fbar IR fhar?

Options :

36669425043, T MM

36669425044, 1 b

36669425045. [



36669425046. TEa =T UG

Question Number : 90 Question Id : 3666947870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who 15 the father of Indian Planning.

Options :
Jawaharlal Nehru

36669425047.

36669425048, K- Gandhi

36669425049. Sir M. Vishveshshwariah

36669425050. B.R. Ambedkar

Question Number : 90 Question Id : 3666947870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
YR FaieH & 9 d ®1F g7

Options:

36669425047, 9T, GE

36669425048, T.P. Ml



36669425049, T U fauERE

36669425050, SR SESH

Question Number : 91 Question Id : 3666947871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In master plan, a zone is shown in yellow colour. What is the land use of that
zone?

Options :

36669425051, Hesidential

36669425052, Commercial

Industrial
36669425053.

Water Bodies
36669425054.

Question Number : 91 Question Id : 3666947871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Hrex @ H o §F 1 dieh T 8 <=1 71 8] 39 9 &l Y -3ui H1 g ?

Options :



36669425051, HEHM

36669425052, ° s

36669425053. STt

36669425054, dlex dlsidl

Question Number : 92 Question Id : 3666947872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In master plan by which color, we show the industrial land use.
Options :

36669425055, | rPle

36669425056, Grey

36669425057, Red

Green
36669425058.

Question Number : 92 Question Id : 3666947872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i o IuE forg 31 9 i @2

Options :

36669425055, ST

36669425056, 3

36669425057, T

36669425058, ¢4

Question Number : 93 Question Id : 3666947873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book “Image of the City” is written by
Options:

36669425059. Christopher Alexander

Kevin Lynch
36669425060.

36669425061, Oxford Newman

Gorden Cullen
36669425062.

Question Number : 93 Question Id : 3666947873 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
“FHW 31 g el fvare faae forelt 82

Options :

36669425059. TR TITISIUS

36669425060, Pia- fad

36669425061, TR ST

36669425062.

Question Number : 94 Question Id : 3666947874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List I1.

List I List II

(A) Carpet Area (I) Built up area plus proportionate area
of common areas

(B) Super built up Area (I) Usable Area

(C) Set Back Area (IIT) Entire carpet area plus external wall.
(D) Plinth Area (IV) Minimum open space around the
building

Choose the correct answer from the options given below:

Options:

A)-ILB)-L O -1V, (D)-11
36669425063.



A)-IV,(B)-1I, (C) - L, (D) — III

36669425064.

(A) -1IL, (B) - L, (C) - IV, (D) - I11
36669425065.

A) -1, (B) -1V, (C)— I, (D)-1
36669425066.

Question Number : 94 Question Id : 3666947874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g | F g I Fr fEe
THE 1 HHE 11
A FrfT Tiar (I) Buwlt up area plus proportionate area of

COmIinon areas

B. 9T faeeg tfrar | (II) Usable Area

C.TT 9T TiET (ITI) Entire carpet area plus external wall.
D. o1 o (IV) Minimum open space around the building
wer e T
Options :
(A)-IIL (B)-L(C) -1V, (D) - 11
36669425063.
(A) -1V, (B)-1I, (C) - I, (D) - III
36669425064.
(A) —1II, (B) - L (C) - IV, (D) - 11
36669425065.

(A) -1, (B) -1V, (C)—II, (D) -1
36669425066.



Question Number : 95 Question Id : 3666947875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last I1.

List I List I1
(A) EKolkata (Iy  Radial
(B) Delhi (II) Linear
(C) Chandigarh (IIT) Organic
(D) Varanasi (IV) Grid Iron

Choose the correct answer from the options given below:

Options :

36669425067, W —TL (B =T (O) =TI, (M) -1V

A)—1 (B)-1II, (C) - II, (D) - IV
36669425068. 0 = = S

(A) —1II, (B) - I, (C) - IV, (D) — III
36669425069.

36669425070, X ~HL(B) -1V, (O — 1. (D) - II

Question Number : 95 Question Id : 3666947875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
36669425067, W~ ML (A} =T (C)-TIL. (M —TV

A)-L(B)-IL (C)-I, (D) -1V
36669425068. i L = b

(A)-1IL (B) - L (C) - IV, (D) - 111
366694250609.

36669425070, Y~ HL(B) —1V. (O) — L (D) — 11

Question Number : 96 Question Id : 3666947876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In which vear, HRIDAY Launched?

Options :

36669425071, 2014

b

36669425072, V12



36669425073, 2U15

36669425074, V11

Question Number : 96 Question Id : 3666947876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HRIDAY fd ad T 3= gam?

Options:

36669425071, 2014

b2

36669425072, 2012

36669425073, 2U15

36669425074, 2U11

Question Number : 97 Question Id : 3666947877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Which type of plan is this?

Options :

36669425075, Andaka

36669425076, Chaturmukha

36669425077, Padmaka

36669425078, Karmukha

Question Number : 97 Question Id : 3666947877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:



36669425075, 7%

36669425076. 48

36669425077, THEI

36669425078, ° Te

Question Number : 98 Question Id : 3666947878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The roman “FORUM"” is also referred as:
Options :
River

36669425079.

36669425080, Luilding

36669425081, Park

Market Place
36669425082.

Question Number : 98 Question Id : 3666947878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IH “FORUM" ] Bad &7

Options :

36669425079, T4

36669425080. #Had

36669425081, T&

36669425082, T

Question Number : 99 Question Id : 3666947879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If all the directions are changed in the manner that North becomes South and
Vice-Versa, then North-West will be

Options :

36669425083, South-East

36669425084, North-East

36669425085, South-West

36669425086, [North-West

Question Number : 99 Question Id : 3666947879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fe Tt feamail #1 ged fégr 9/ 6 Ioe-afém 81 ol ok 3ueT faudid, o IoR-ufdH g |

Options :

36669425083. T - g

36669425084, SR -

36669425085, Gla - UfEH

36669425086, ST - AW

Question Number : 100 Question Id : 3666947880 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inspector Shyam started from Police Station on inspection. After travelling
straight for a distance of four (4) KM, he turned left for market and travelled
straight 600 meters. He now turned left again and travelled straight for
another 200 meters, and turned left and travelled straight for 600 meters. How
far is Shyam from Police Station?

Options :

36669425087, 5-4 Km

36669425088, K™

36669425089, °-8 Km

36669425090, 44 Km



Question Number : 100 Question Id : 3666947880 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUF T A ifed ¥ @ 9% fooan | 99 4 T . g &3 & @18, 3 91 42 99iR & fod oY
W9 600 T = | 3@ I TR T 9 42 ud e 200 M 9 vd 99 42 U9 600 T = | 7O Gife
oy ¥ fara gr g?

Options:

36669425087, 34 @ .

36669425088, 48 .

36669425089, 38l

36669425090, 44 & .

Question Number : 101 Question Id : 3666947881 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The highest body which approves five year plans of India is:
Options:

Parliament

36669425091.

Planning Commission

36669425092.

Union Cabinet

36669425093.



National Development Council

36669425094.

Question Number : 101 Question Id : 3666947881 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y= Twy1 S g Ty diee Wiga St 87

Options :

36669425091. el

36669425092, T FH

36669425093. 1 E

36669425094, TUH SAATHT BT

Question Number : 102 Question Id : 3666947882 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, from A point to C point, how much you have to move

Options :

36669425095, =V

36669425096, 50

36669425097, 1V

36669425098,

Question Number : 102 Question Id : 3666947882 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
36669425095, Y

36669425096. 50

36669425097, Y

36669425008, U

Question Number : 103 Question Id : 3666947883 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, from point C to point B, which direction you have to move

Options :

36669425099, Hast—North

36669425100, North — South

36669425101, South— East

West — South
36669425102.

Question Number : 103 Question Id : 3666947883 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

36669425099, T - I

36669425100, ST - Gl

36669425101, A& -

36669425102, TaH - afém

Question Number : 104 Question Id : 3666947884 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 20 30 40 50 60 70

With the reference to the diagram, choose the correct statement.
Options:

The distance from B to D 15 20
36669425103.

36669425104, e distance from B to Dis 10

36669425105, The distance from B to C 18 10

The distance from B to D 18 30
36669425106.

Question Number : 104 Question Id : 3666947884 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foa & srguR ad aed 9 |

10 20 30 40 50 60 70

Options :

36669425103, BHDFI Gl 208

36669425104, B YD PG 108

36669425105, B9 C PRI 10

36669425106, B 9 D FI&30%]

Question Number : 105 Question Id : 3666947885 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 20 30 40 50O 60 F0
In the given diagram, northern most point is

Options :

36669425107, © only

36669425108, D only

36669425109, B only

36669425110, * PV

Question Number : 105 Question Id : 3666947885 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

36669425107, Pa0C

36669425108, PddD

36669425109, P08

36669425110, PITA

SectionId :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

60

70

80

Number of Questions to be attempted :

Section Marks :

Drawing

366694449
5

Offline
Mandatory
2

2

100

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694449
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 106 Question Id : 3666947886 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Draw the Sketch of the given image in detail.

Question Number : 106 Question Id : 3666947886 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50
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Question Number : 107 Question Id : 3666947887 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 50

Create an interesting sculpture, using basic 3D shapes of sports elements eg.
different Balls, Bats etc. You can scale each object to any size of your choice,
and use them as per your choice. Draw the effect of light and shadow on your

composition. Use colours of your choice.

Question Number : 107 Question Id : 3666947887 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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